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Vhi %Vhi %Vhi %Vhi %Vhi % çR;sd bdkbZ ls ,d ç'u gy dhft,A lHkh ç'uksa ds vad leku gSA
Note : Attempt one question from each unit. All questions carry equal marks.

Unit-I

ç'u 1- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ fyf[k,%
Write short notes on any two of the following :

i) foŸkh; fu;kstu
Financial Planning

ii) foŸkh; izca/k dk mŸkjnkf;Ÿo
Responsibilities of Financial Management

iii) foŸkh; izca/k dk egŸo
Importance of Financial Management

iv) lqn`<+ ykHkka'k uhfr ds rŸo
Essentials of a sound dividend policy

OR

,d miØe dh foŸkh; vko';drkvksa dk vki dSls vuqeku yxk,¡xs\ foŸkh;
fu;kstu esa fufgr dneksa dk foospuk dhft,A
How do you estimate the financial requirements of an enterprise? Explain

the steps involved in financial planning.
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izfro"kZ ¼:-½

(i) LVkWd esa vkSlr jkf'k
pkyw dk;Z ,oa rS;kj eky  10]000
lkexzh ,oa LVkslZ  16]000

(ii) iznŸk vkSlr lk[k
LFkkuh; fcØh &2 lIrkg 1]56]000
fu;kZr fcØh &6 lIrkg 6]24]000

(iii) Hkqxrku esa le; varjky
Ø; &4 lIrkg 1]92]000
etnwjh &2 lIrkg 5]20]000
X Ltd. wishes to purchase a business and seeks your advice about the

average working capital requirements in first year's trading. The following

data is available and you are told to add 10% to allow for contingencies :

         Per annum (Rs.)

(i) Average amount lockedup in stock of :

Work-in-progress and Finished Goods   10,000

Materials and stores   16,000

(ii) Average Credit allowed to :

Local Sales - 2 Weeks 1,56,000

Export Sales - 6 Weeks 6,24,000

(iii) Time-lag in payments for :

Purchase - 4 Weeks 1,92,000

Wages - 2 Weeks 5,20,000

OR

izkI; izca/k ls vki D;k le>rs gSa\ vkSlr olwyh vof/k dk izkfIr;ksa ds
izca/k esa D;k egŸo gS\
What do you mean by receivable management? What is the importance

of average receivable period in terms of management of receiving?
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Unit-II

ç'u 2- fot;k fyfeVsM ,d ifj;kstuk esa 1]00]000:- fofu;ksx dk fopkj dj jgh gSA
bl ifj;kstuk dh tkudkjh bl izdkj gS %
Vijaya Limited is considering Project for investment Rs. 100000. Their details

are as follows:

 ifj;kstuk      fofu;ksx :-     jksdM+ izokg :-   thoukof/k ¼o"kksZa esa½
     Project       Investment(Rs.)   Cash Flow(Rs.)   Life (in Years)

1 30,000      6,000 10

2 80,000    20,000 20

3 75,000    25,000 10

4 28,000      4,000 15

;fn iawth dh ykxr 20% gS rks ifj;kstuk dk Jsf.k;u fuEukuqlkj dhft, %
If the cost of capital is 20% recommend (rank) project as follows :

¼1½ vnk;xh vof/k i)fr (Pay Back Period Method)

¼2½ ys[kkadu çR;k; nj i)fr (Accounting Rate of Return Method)

¼3½ orZeku ewY; lwpdkad i)fr (Present Value Index Method)

orZeku ewY; dkjd 20% gS %
Present Value factor at 20% are :

 orZeku ewY; dkjd    ifj;kstuk
Present Value Factor        Project

4.192 1

4.870 2

4.192 3

4.675 4

OR

iwath ctVu çfØ;k D;k gS\ iwath ctVu esa mBk;s tkus okys egŸoiw.kZ dneksa
dk laf{kIr o.kZu dhft,A
What is Capital Budgeting Process? Enumerate briefly the major steps in

capital budgeting.

Unit-III

ç'u 3- yhojst ls D;k vk'k; gS\ yojst fdrus izdkj ds gksrs gaS\ Li"V dhft,A
What is meant by Leverage? What are the various types of leverage? Explain

clearly.

OR

izrhd fyfeVsM us 100:- okys 1000] 9% v'kks/kuh; iwokZf/kdkj va'k :- 95
izfr va'k ij fuxZfer fd;s gSaA fuxZeu ds O;; % vfHkxksiu 2%] nykyh
0-5% rFkk eqnz.k ds 500:- gSaA daiuh 50% dj dh nj ds v/khu gSA dj
ds ckn ,oa dj ds iwoZ iwath dh ykxr Kkr dhft,A
Prateek Limited has issued 1000, 9% irredeemable preference shares of

Rs. 100 each at Rs. 95 per share. The expenses of issue are : underwriting

2%, brokerage 0.5% and printing Rs. 500. The Company is subject to a tax

rate of 50%. Find out the cost of capital after tax and before tax.

Unit-IV

ç'u 4- dkj.k-lfgr Li"V dhft;s fd iwath lajpuk ds fdl fl)kar dks vki
loZJs"B le>rsa gSa\ ¢y ây÷àÞm §ýàç ytlà¢¥ ñ

Justify giving reasons, which theory of capital structure do you think is

the best? Explain this theory.

OR

,d daiuh ds orZeku esa 100:- ij fcdus okys 1000 va'k cdk;k gSA
orZeku o"kZ ds var esa dEiuh 5:- izfr va'k Hkqxrku djus ij fopkj dj
jgh gSA bl izdkj dh daiuh ds fy, iwathdj.k dh nj 10% gSA o"kZ ds var
esa va'k dk ewY; D;k gksxk ;fn
(i) ykHkka'k ?kksf"kr ugh fd;k tkrk gSA
(ii) ykHkka'k ?kksf"kr fd;k tkrk gSA
A company has at present outstanding 1000 shares selling at Rs. 100.

The company is thinking of declaring of Rs. 5 per share at the end of

the current year. The Capitalization rate for this type of company is

10%. What will be the price of per share at the end of the year if.

(i)  No dividend is declared (ii) A dividend is declared

Unit-V

ç'u 5- X Ltd. ,d O;olk; [kjhnus dh bPNk djrh gSA vkSj O;kikj ds izFke o"kZ esa vkSlr
dk;Z'khy iwath dh vko';drk ds ckjs esa vkils jk; ysuk pkgrh gSA fuEu lead
miyC/k gS vkSj vkils dgk x;k gS fd vkdfLedrkvksa ds fy, 10% tksM+s %


